
fat ≤ 8.5
gini = 0.471

samples = 95
value = [36, 59]

class = 1

fiber ≤ 8.5
gini = 0.449

samples = 50
value = [33, 17]

class = 0

True

sex ≤ 0.5
gini = 0.124

samples = 45
value = [3, 42]

class = 1

False

fiber ≤ 1.5
gini = 0.313

samples = 36
value = [29, 7]

class = 0

age ≤ 33.0
gini = 0.408

samples = 14
value = [4, 10]

class = 1

fat ≤ 3.5
gini = 0.473

samples = 13
value = [8, 5]

class = 0

sex ≤ 0.5
gini = 0.159

samples = 23
value = [21, 2]

class = 0

gini = 0.0
samples = 4
value = [4, 0]

class = 0

sex ≤ 0.5
gini = 0.494
samples = 9
value = [4, 5]

class = 1

gini = 0.0
samples = 2
value = [0, 2]

class = 1

fat ≤ 6.5
gini = 0.49

samples = 7
value = [4, 3]

class = 0

age ≤ 46.5
gini = 0.5

samples = 6
value = [3, 3]

class = 0

gini = 0.0
samples = 1
value = [1, 0]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0

fiber ≤ 0.5
gini = 0.5

samples = 4
value = [2, 2]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0

gini = 0.0
samples = 14
value = [14, 0]

class = 0

age ≤ 34.0
gini = 0.346
samples = 9
value = [7, 2]

class = 0

gini = 0.0
samples = 5
value = [5, 0]

class = 0

age ≤ 44.5
gini = 0.5

samples = 4
value = [2, 2]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0

gini = 0.0
samples = 6
value = [0, 6]

class = 1

age ≤ 48.5
gini = 0.5

samples = 8
value = [4, 4]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0

fiber ≤ 10.5
gini = 0.5

samples = 6
value = [3, 3]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0

fat ≤ 5.0
gini = 0.5

samples = 4
value = [2, 2]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0

gini = 0.0
samples = 25
value = [0, 25]

class = 1

age ≤ 30.5
gini = 0.255

samples = 20
value = [3, 17]

class = 1

gini = 0.0
samples = 11
value = [0, 11]

class = 1

spicy ≤ 0.5
gini = 0.444
samples = 9
value = [3, 6]

class = 1

fat ≤ 11.5
gini = 0.5

samples = 6
value = [3, 3]

class = 0

gini = 0.0
samples = 3
value = [0, 3]

class = 1

gini = 0.5
samples = 2
value = [1, 1]

class = 0

fiber ≤ 10.5
gini = 0.5

samples = 4
value = [2, 2]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0

gini = 0.5
samples = 2
value = [1, 1]

class = 0


